
ירוןמיכו־ פלוסנדל״ו
רירהלרהזמןזההאם

ננסים?זנתס

הכ־והמשברהנרל״ןמחיריעליות

לכלי

$TS1$הכלכלי$TS1$

$DN2$הכלכלי$DN2$לע־הובילואותנולעזובשמסרב

לייה

$TS1$לעלייה$TS1$

$DN2$לעלייה$DN2$לו־במספרניכרת

קחי

$TS1$לוקחי$TS1$

$DN2$לוקחי$DN2$שאינםהמשכנתאות

ההח־בתשלומיעומרים

זר

$TS1$ההחזר$TS1$

$DN2$ההחזר$DN2$.נק־כרעקבלבנקים

לעים

$TS1$נקלעים$TS1$

$DN2$נקלעים$DN2$ואזרחיםעסקים

וכי־פירוקלהליכירבים

נוס

$TS1$וכינוס$TS1$

$DN2$וכינוס$DN2$,שבמסגרתםנכסים

הנכסיםאתהבנקמממש

אותםומוכרהמשועבדים

הנכסים.כונסבאמצעות

אחרשלצרתוזהבמקרה

הזדמנותלהיותעשויה

אנוומשכךאחר,שלפז

מת־לתופעהמתמידיותרבאחרונהעדים

רחבת

$TS1$מתרחבת$TS1$

$DN2$מתרחבת$DN2$הנמכרותמגוריםדירותחיפוששל

נכסים.כינוסבהליר

ושו־נדל״ןמומחהטיקוצקי,ירוןעו״ר

תף-מייסר

$TS1$ושותף-מייסר$TS1$

$DN2$ושותף-מייסר$DN2$דורון-טיקוצקי-צדר־במשרד

בוים,

$TS1$,דורון-טיקוצקי-צדרבוים$TS1$

$DN2$,דורון-טיקוצקי-צדרבוים$DN2$נכ־מכונםדירהשלרכישתמסביר

סים

$TS1$נכסים$TS1$

$DN2$נכסים$DN2$להפוךהעשוייםיתרונותכמהיש

מב־דירהמרכישתיותרלכדאיתאותה

■עליה.

$TS1$.מב■עליה$TS1$

$DN2$.מב■עליה$DN2$שכןיותר,בטוחהבקנייהמדובר

ולשכתהמשפטביתעל-ידימלווהההליך

לאכימבטיחיםשניהםלפועל.ההוצאה

הנכסעלוכיאחרתאוזובהונאהמדובר

כל־עיקולאושיעבודחוב,עומדיםלא

שהו.

בצד

$TS1$כלבצד$TS1$

$DN2$כלבצד$DN2$עו״רמבהירהבולטיםהיתרונות

וסיכוניםחסרונותכמהישנםכיטיקוצקי

לדעתחשובלמשל,מהם.להתעלםשאין

לחזוריכולאינךהתקבלה,הצעתךאםכי

%01כ-שגובהוהפיקדון,במחיראלאבך

נכ־מכונסרכישהכן,כמוהנכס.משווי

סים

$TS1$נכסים$TS1$

$DN2$נכסים$DN2$בשיטתנעשיתas is
״,

הנכסכלומר

כלשהו,פגםבוישואםשהואכפינקנה

בע־לטיפולכתובתכלתהיהלאלרוכש

ניין.

לסיכום,

$TS1$,בעלסיכום$TS1$

$DN2$,בעלסיכום$DN2$יכולהנכסיםמכונםקנייה

לר־וכדאיתמשתלמתאלטרנטיבהלהוות

כישת

$TS1$לרכישת$TS1$

$DN2$לרכישת$DN2$,ית־ישנםעסקהבכלכמואךדירה

רונות

$TS1$יתרונות$TS1$

$DN2$יתרונות$DN2$לה־חשובמשמעותיים.וחסרונות

דגיש

$TS1$להדגיש$TS1$

$DN2$להדגיש$DN2$לייעוץתחליףלעילבעצותאיןכי

בשי־להיעזרמומלץמקרהובכלמקצועי,

רותיהם

$TS1$בשירותיהם$TS1$

$DN2$בשירותיהם$DN2$ומנו־מתאימיםמקצועאנשישל

סים,

$TS1$,ומנוסים$TS1$

$DN2$,ומנוסים$DN2$הזדמנויותאתלנצללכםשיסייעו

וע־מנוכליםולהימנעתומןעדהנרל״ן

םקאות

$TS1$ועםקאות$TS1$

$DN2$ועםקאות$DN2$.נפל


